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QUESTION 1

A cloud administrator has finished building a virtual server template in a public cloud environment. The administrator is
now cloning six servers from that template. Each server is configured with one private IP address and one public IP
address. After starting the server instances, the cloud administrator notices that two of the servers do not have a public
IP address. Which of the following is the MOST likely cause?

A. The maximum number of public IP addresses has already been reached.

B. The two servers are not attached to the correct public subnet.

C. There is no Internet gateway configured in the cloud environment.

D. The two servers do not have enough virtual network adapters attached.

Correct Answer: D

QUESTION 2

Implementing a process in a change management system takes place after:
A. rigorous peer review.

B. consultation with the vendor.

C. initial test in a sandbox.

D. approval by the CAB.

Correct Answer: D

QUESTION 3

A systems administrator created several new VMs on a private cloud and wants to ensure the new baseline still meets
corporate guidelines. The administrator finds the following new load numbers on the hosts:

HOST CPU RAM DISK NETWORK
HOSTA 22% 85% 94% 47%
HOSTB 45% 75% 36% 52%
HOST C 53% 75% 42% 60%
HOSTD | 85% 75% 93% 75%

If corporate policy requires N+1 host capacity, which of the following metrics is MOST likely to present a problem?

A.CPU
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B. RAM
C. DISK
D. NETWORK

Correct Answer: C

QUESTION 4

Which of the following actions should be taken when a VM reports high swap file utilization?
A. Move the swap file to faster storage

B. Online migration of the VM to a less congested host

C. Disable memory ballooning on the VM

D. Increase its RAM setting

Correct Answer: D

QUESTION 5

A company is required to ensure all access to its cloud instance for all users to utilize two-factor authentication. The QA
team confirms all functional requirements successfully test. After deployment, all business users report the two-factor
authentication is not enforced while accessing the instance. Which of the following would be the MOST likely reason the
QA team did not catch the issue?

A. The business users are using the wrong hardware token to log in.

B. The administrator configured to use two-factor authentication by default.

C. The QA team only tested functional requirements.

D. The business users are accessing the instance located in their country.

Correct Answer: C
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